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This test is marked out of 45 marks

Question 1. (5 marks)

In 1982 the population in Boboville was 1300 people, 20 years later the population
was 15 000 people. Suppose the population of Boboville can be described by the
exponential growth formula P = P()EM What will be Bobovﬂle s population in the

year 2030.
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Questlon 2 Factor completely the followmg eXpressions: ( 6 marks )
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| Question 3. (5 marks)

The current i (in A) in a certain electric circuit is given by i = 16(1 — e~ 20, where
t is the time (in ). . '

(a) What is the current in the circuit after 5 milliseconds? (2 marks)
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(b) When will the current in the circuit be 15.999A7 (3 marks)
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Question 4. Solve the following equations: (12 marks)

(a) 7y> = 12y —5.(2 marks)
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(c) logy x+logy(x+2) = 0 (3 marks)
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'Question 5. (3 marks)
Solve for y in terms of x:
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Question 6. (4 marks) , :
(a) Graph the function y = f(x) = —x?> —x+ 12. Your graph must include the x-
intercept(s), y-intercept and the vertex. "
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(b) State the domain and range of f(x).
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-QueStion 7. (6 marks)
Consider the equation y = log, (x+ 1).
(a) Give the exponential form of the equation. (I mark)

27 = x4l
(b) Graph the function y = £(x) = log,(x+ 1). (3 marks)
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(c) Give the domain and range of the function f. (2 marks)
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Question 8. (4 marks) S
(a) Graph the function y = f(x) = 2+/3 —=x—1. (2 marks)
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(b) Give the domain and range of the function . (2 marks)
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